R5.10.1 BiE S amEEADR P BT R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
X 48, 908| 109, 407] 53, 169] 56, 238 32 -1s 77 47 124 62] 442 380 0 114 114
HI—TH 699 1,477 717 760 1 -1 -2 1 3 2 3 1 -1 1 2
FLl T H 5631 1,295 643 652 0 -2 0 1 1 -2 3 5 0 0 0
LI =TH 471 1,046 503 543 -1 -2 0 1 1 0 2 2 -2 0 2
Sl AE 1,733 3,818]  1,863] 1,955 0 -5 -2 3 5 0 8 8 -3 1 4
Sk —TH 476 926 435 491 -1 -6 -1 0 1 -6 1 7 1 1 0
. = 726 1,688 811 877 1 -1 -1 0 1 0 3 3 0 0 0
SR —TH 5531 1,282 610 672 —4 —4 1 1 0 -6 2 8 1 3 2
S AT H 398 876 435 441 0 -1 -1 0 1 0 1 1 0 0 0
ot T H 613 1,320 636 684 2 -1 -3 0 3 3 5 2 -1 1 2
BN T B 237 501 249 252 -1 -1 1 1 0 0 0 0 -2 0 2
ARt TH 639 1,628 789 839 —4 -2 0 2 -3 1 4 1 2 1
oA\ T H 384 831 383 448 0 -3 0 3 3 4 1 0 0 0
IV B 620[ 1,468 720 748 1 2 -1 2 3 0 1 1 3 3 0
S aatl 4,646 10,520] 5,068 5,452 0 -16 -10 4 14 -9 18 27 3 10 7
e n—1H 357 805 396 409 -1 -1 0 0 0 -1 5 6 0 0 0
w7 HL 1,012 2,084 1,045 1,039 -1 -2 -2 1 3 1 3 2 -1 1 2
HHk o —TH 682l 1,388 682 706 2 0 -2 0 2 5 6 1 -3 0 3
Wk A AEEL 2,051, 4,277] 2,123| 2,154 0 -3 —4 1 5 5 14 9 —4 1 5
Mt A — T H 559|| 1,241 600 641 3 1 1 1 0 -2 2 4 2 2 0
ek R _TH 364 924 468 456 -1 -2 -1 0 1 -1 2 3 0 0 0
Mk R =TH 251 540 279 261 4 3 0 0 0 3 4 1 0 0 0
ik L G| 564 1,303 667 636 -1 -2 -1 1 2 -1 1 2 0 0 0
sk aaEt] 1,738 4,008] 2,014 1,994 0 -1 2 3 -1 9 10 2 2 0
TEIT) 374 848 406 442 3 -2 0 2 5 5 0 0 0 0
HOEEN— T H 215 436 222 214 6 0 0 0 6 8 2 0 0 0
HOEE T H 426 932 462 470 -1 -5 -1 0 1 -4 5 9 0 0 0
HoEEI =T H 696 1,683 825 858 5 9 0 1 1 7 12 5 2 2 0
HOEEAN T H 808| 2,020 998| 1,022 4 -1 -1 1 2 1 3 2 -1 3 4
HEROH T H 445l 1,031 519 512 3 1 -3 0 3 3 4 1 1 1 0
HOEEIS T H 391 858 420 438 6|  -12 -2 0 2 -7 12 -3 0 3
HoEEOETH 674 1,437 704 733 -5 -8 -2 0 2 —4 9 -2 0 2
HOEEHOSE 3,655 8,397 4,150| 4,247 4] =10 -9 2 11 2 42 40 -3 6 9
PEEE| 1,5120 2,748 1,314| 1,434 0l -10 -3 1 4 —4 12 16 -3 0 3
FHIAR 304 637 328 309 2 1 -2 0 2 3 4 1 0 0 0
EE g —T 541 1,104 510 594 -1 -1 1 1 0 2 3 1 —4 0 4
EE g — T 259 519 256 263 1 -1 -1 0 1 -1 1 2 1 3 2
R =T H 536 1,175 582 593 1 2 0 0 0 2 3 1 0 1 1
TEE Py T 651 1,293 613 680 -5 -8 -2 0 2 -3 3 6 -3 0 3
EEP g R T H 238 546 270 276 1 5 0 0 0 4 6 2 1 3 2
EER A2 2 224l 4,637] 2,231 2,406 -3 -3 -2 1 3 4 16 12 -5 7 12
EEIARRT— T H 723 1,416 676 740  -11 -12 1 1 0 -7 31 38 -6 2 8
EEIARRT T H 676 1,295 602 693 4 5 -2 0 2 6 9 3 1 1 0
EEOARRTAE 1,399 2,711 1,278 1,433 ~7 -7 -1 1 2 -1 40 41 -5 3 8
RPN 274 781 426 355 3 6 -1 0 1 4 4 0 3 3 0
WHR—TH 725 1,639 804 835 0 0 1 1 0 -1 1 2 0 0 0
R T H| L, 7400 3,940] 1,901 2,039 4 0 -1 3 4 8 21 13 -7 0 7
WHR=TH 874/l 2,217 1,080 1,137 3 9 1 1 0 6 3 2 2 0
HHRIT H 4991 1,211 568 643 2 6 -1 0 1 1 1 6 6 0
HPREEH 3,838 9,007| 4,353| 4,654 9 15 0 5 5 14 33 19 1 8 7
HiR—TH 719 1,576 768 808 -5 =10 1 2 il -10 1 11 -1 2 3
LR - TH 938 2,215 1,107| 1,108 0 -1 -2 1 3 1 8 7 0 1 1
PR =TH 508 1,072 553 519 -5 —4 1 1 0 -5 11 16 0 0 0
JbdRA&EF| 2,165 4,863 2,428] 2,435 -10] 15 0 4 4 -14 20 34 -1 3 4
T IROBTHT 329 813 392 421 0 2 2 2 0 0 2 2 0 0 0
el 1,613 5,086 2,258 2,828 -6 5 -5 0 5 -6 19 25 16 16 0
M E T H 744 1,695 808 887 2 —4 -2 0 2 -2 2 4 0 0 0




R5.10.1 BiE S amEEADR P BT R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 762 1,797 895 902 3 4 -2 1 3 4 6 2 2 3 1
MoE =1 H 642|l 1,490 739 751 1 -3 1 3 2 -1 1 2 -3 1 4
A EN T H 926 2,189| 1,031 1,158 -6 -7 —4 1 5 0 4 4 -3 5 8
RCENNE 656| 1,486 732 754 0 3 1 2 1 3 4 1 -1 0 1
MAEST H 416 965 450 515 -1 -5 -3 0 3 -2 0 2 0 0 0
mAEaE| 4,146 9,622] 4,655 4,967 -1 -12 -9 7 16 2 17 15 -5 9 14
VEPIe S 576 1,143 556 587 4 4 -1 0 1 5 9 4 0 0 0
e —TH 319 690 331 359 0 3 -2 0 2 3 7 4 2 3 1
e — T H 597 1,318 624 694 0 0 0 0 0 0 2 2 0 0 0
A gl 916 2,008 955| 1,053 0 3 -2 0 2 3 9 6 2 3 1
Eh— 1 H 312 690 351 339 -1 -1 0 0 0 -1 4 5 0 0 0
= =T H 657| 1,385 649 736 -1 0 1 1 1 5 4 -1 0 1
=T H 418 1,076 539 537 3 -1 1 2 2 2 0 3 3 0
EaEtl 1,387 3,151 1,539 1,612 1 -1 2 3 2 11 9 2 3 1
e —TH 383 911 427 484 -3 -7 -2 0 2 -2 0 2 -3 0 3
WHE T H 448 1,083 541 542 0 —4 0 4 1 5 4 3 4 1
HHE T H 830 2,037| 1,042 995 -3 2 3 6 3 -3 6 9 2 6 4
W& T B 444 1,013 492 521 0 —4 -1 0 1 2 3 1 -5 0 5
B E ] H 831l 1,796 889 907 —4 -3 0 3 -1 5 6 0 1 1
HHIENT H 243 502 252 250 0 0 0 0 0 0 1 1 0 0 0
HEOEr 3,179 7,342| 3,643 3,699 -5 -13 -7 6 13 -3 20 23 -3 11 14
<HWE—TH 595 1,339 646 693 -2 -3 0 0 0 -3 1 4 0 0 0
<HEIL—TH 709 1,479 717 762 -1 0 0 1 1 0 2 2 0 0 0
SHBEIL=TH 510( 1,119 548 571 0 0 -1 0 1 1 2 1 0 0 0
<HEWLPTH 578 1,179 579 600 3 3 1 2 1 1 3 2 1 1 0
<O T H 278 613 330 283 0 -1 0 0 0 -1 0 1 0 0 0
<WEEE 2,670 5,729 2,820[ 2,909 0 -1 0 3 3 -2 8 10 1 1 0
WIE AR —TH 792 1,688 828 860 0 —4 -2 0 2 —4 9 13 2 2 0
WIEAR T H 481 1,131 581 550 2 1 -2 0 2 3 4 1 0 1 1
PIEARTSE 1,273 2,819] 1,409| 1,410 2 -3 —4 0 4 -1 13 14 2 3 1
s 409 784 374 410 4 6 0 0 0 2 4 2 4 4 0
ek a— T H| 1,166 1,839 849 990 4 11 0 0 0 5 18 13 6 7 1
e T H 467 774 382 392 1 1 -1 0 1 2 6 4 0 3 3
ok T H 726 1,776 836 940 18 24 -1 1 2 26 28 2 -1 0 1
sk BRI H 417 862 409 453 0 0 1 1 0 -1 3 4 0 0 0
s El 2,716l 5,251 2,476] 2,775 23 36 -1 2 3 32 55 23 5 10 5
FRIREET 21 52 27 25 0 -1 0 0 0 -1 0 1 0 0 0
B 744 1,727 834 893 -3 -2 -5 0 5 4 9 5 -1 6 7
VEEE 327 733 335 398 1 1 0 0 0 1 1 0 0 0 0
e — T H 4511 1,097 546 551 1 -5 0 0 0 3 6 3 -8 0 8
e T H 404 912 448 464 —4 -7 -1 0 1 -2 4 6 —4 0 4
oo B R 855 2,009 994 1,015 -3 -12 -1 0 1 1 10 of -12 0 12
P — T H 706 1,436 715 721 10 15 -1 0 1 12 22 10 4 4 0
P T H 538| 1,279 600 679 0 -2 -1 1 2 -1 3 4 0 0 0
WeEE A Er| 1,244 2,715 1,315] 1,400 10 13 -2 1 3 11 25 14 4 4 0
P e 322 692 351 341 0 2 -3 0 3 5 0 0 0 0
BEHIR 208 479 254 225 0 -2 -1 0 1 -1 1 0 0 0




